Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 10 - West Garioch

4,237

3

1,060

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Sasha BRYDON	Scottish Labour Party	324
Moray Charles GRANT	Scottish National Party (SNP)	1,247
Sebastian LESLIE	Independent	273
Sheena Margaret LONCHAY	Independent	451
Anne MANSFIELD	Scottish Green Party	182
Elaine Helen Grace MITCHELL	Alba Party for independence	71
Sam PAYNE	Scottish Conservative and Unionist	1,150
Hazel Linda SMITH	Scottish Liberal Democrats	539
	Total	4,237

Candidate Moray Charles GRANT Elected with 1,247 votes, being in excess of the quota of 1,060 Candidate Sam PAYNE Elected with 1,150 votes, being in excess of the quota of 1,060

This report contains the transfers results.

Stage 2 - Surplus of Moray Charles GRANT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sasha BRYDON	159	0.14995	23.84205
Transfer to Sebastian LESLIE	59	0.14995	8.84705
Transfer to Sheena Margaret LONCHAY	115	0.14995	17.24425
Transfer to Anne MANSFIELD	462	0.14995	69.27690
Transfer to Elaine Helen Grace MITCHELL	116	0.14995	17.39420
Transfer to Hazel Linda SMITH	145	0.14995	21.74275
No further preference	191	0.14995	28.64045
Not transferred due to rounding			0.01235
	Total		187.00000

This report contains the transfers results.

Stage 3 - Surplus of Sam PAYNE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sasha BRYDON	120	0.07826	9.39120
Transfer to Sebastian LESLIE	215	0.07826	16.82590
Transfer to Sheena Margaret LONCHAY	144	0.07826	11.26944
Transfer to Anne MANSFIELD	23	0.07826	1.79998
Transfer to Hazel Linda SMITH	343	0.07826	26.84318
No further preference	295	0.07826	23.08670
Not transferred due to rounding			0.00100
	Total		90.00000

This report contains the transfers results.

Stage 4 - Exclusion of Elaine Helen Grace MITCHELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sasha BRYDON	7	1.00000	7.00000
Transfer to Sebastian LESLIE	6	1.00000	6.00000
Transfer to Sheena Margaret LONCHAY	11	1.00000	11.00000
Transfer to Anne MANSFIELD	18	1.00000	18.00000
Transfer to Hazel Linda SMITH	8	1.00000	8.00000
Transfer to Sasha BRYDON	4	0.14995	0.59980
Transfer to Sebastian LESLIE	10	0.14995	1.49950
Transfer to Sheena Margaret LONCHAY	14	0.14995	2.09930
Transfer to Anne MANSFIELD	50	0.14995	7.49750
Transfer to Hazel Linda SMITH	15	0.14995	2.24925
Transfer to Sheena Margaret LONCHAY	2	0.07826	0.15652
Transfer to Hazel Linda SMITH	3	0.07826	0.23478
No further preference	21	1.00000	21.00000
No further preference	23	0.14995	3.44885
No further preference	5	0.07826	0.39130
Not transferred due to rounding			0.00000
	Total		89.17680

This report contains the transfers results.

Stage 5 - Exclusion of Anne MANSFIELD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sasha BRYDON	48	1.00000	48.00000
Transfer to Sebastian LESLIE	15	1.00000	15.00000
Transfer to Sheena Margaret LONCHAY	32	1.00000	32.00000
Transfer to Hazel Linda SMITH	67	1.00000	67.00000
Transfer to Sasha BRYDON	79	0.14995	11.84605
Transfer to Sebastian LESLIE	34	0.14995	5.09830
Transfer to Sheena Margaret LONCHAY	74	0.14995	11.09630
Transfer to Hazel Linda SMITH	117	0.14995	17.54415
Transfer to Sasha BRYDON	1	0.07826	0.07826
Transfer to Sebastian LESLIE	1	0.07826	0.07826
Transfer to Sheena Margaret LONCHAY	3	0.07826	0.23478
Transfer to Hazel Linda SMITH	8	0.07826	0.62608
No further preference	38	1.00000	38.00000
No further preference	208	0.14995	31.18960
No further preference	10	0.07826	0.78260
Not transferred due to rounding			0.00000
	Total		278.57438

This report contains the transfers results.

Stage 6 - Exclusion of Sebastian LESLIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sasha BRYDON	23	1.00000	23.00000
Transfer to Sheena Margaret LONCHAY	145	1.00000	145.00000
Transfer to Hazel Linda SMITH	49	1.00000	49.00000
Transfer to Sasha BRYDON	7	0.14995	1.04965
Transfer to Sheena Margaret LONCHAY	49	0.14995	7.34755
Transfer to Hazel Linda SMITH	9	0.14995	1.34955
Transfer to Sasha BRYDON	24	0.07826	1.87824
Transfer to Sheena Margaret LONCHAY	91	0.07826	7.12166
Transfer to Hazel Linda SMITH	41	0.07826	3.20866
No further preference	77	1.00000	77.00000
No further preference	38	0.14995	5.69810
No further preference	60	0.07826	4.69560
Not transferred due to rounding			0.00000
	Total		326.34901

This report contains the transfers results.

Stage 7 - Exclusion of Sasha BRYDON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sheena Margaret LONCHAY	71	1.00000	71.00000
Transfer to Hazel Linda SMITH	199	1.00000	199.00000
Transfer to Sheena Margaret LONCHAY	34	0.14995	5.09830
Transfer to Hazel Linda SMITH	93	0.14995	13.94535
Transfer to Sheena Margaret LONCHAY	19	0.07826	1.48694
Transfer to Hazel Linda SMITH	81	0.07826	6.33906
No further preference	132	1.00000	132.00000
No further preference	122	0.14995	18.29390
No further preference	45	0.07826	3.52170
Not transferred due to rounding			0.00000
	Total		450.68525

This report contains the transfers results.

Stage 8 - Exclusion of Sheena Margaret LONCHAY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Hazel Linda SMITH	334	1.00000	334.00000
Transfer to Hazel Linda SMITH	147	0.14995	22.04265
Transfer to Hazel Linda SMITH	78	0.07826	6.10428
No further preference	376	1.00000	376.00000
No further preference	139	0.14995	20.84305
No further preference	181	0.07826	14.16506
Not transferred due to rounding			0.00000
	Total		773.15504